[image: image1.jpg]JARA 2021 EU BRI S FR LT AT A E R
—_—— frhre Ry
SEE g
AIREIL 2 T, 20 /NE, 5 100 430 iRk E] 120 208k
FEEM:
1. BAEDFLEA L EARS, SMERI.
2. BN, S USRS AR RGBT,
3. EPRAR/NEUE GG, 2B BB R R RO S R SR, il ek
&, FAMEBTERE, RRIMEE.
. AR B A TN S T A R S AR E X R
R T By, RGBS A HAERRMR . AR
5. HANFUAEZ BRI, HREHE, BARBREEE—

S

|

— BUUEES (KARE 5 NS, 3, 15

Zk)
1. R 1im 22O% g 2
=0 2x
2
B. IS
D. BRERI A

(R, WLATIERHRZ

B. F'(x)=f(x)+C

A. g[u" +%] B. g[un +%J
& 1 < 1
C Z(u" +—] D Z u, ——]
n=1 n n=1 n
AR 1T G270



[image: image2.jpg]5% "LQ/'(.\‘):J.:sinr:dt, g(x)=3x"+4x", Hx -0, LLNEERIERRE

A f () Kb g (x) TR LT3 B. /(x) St g (x) BRI AN
C. /(%) 15 g (x) REHET b D. f(x) 5 g(x) A HAIFIB LTS

o EZE (RREE S N, B3, H15H)

{X ) 2zt +43’ 50 = 1R AR IR DIZR A 4

6. Ik

y=t
7. otz =y AT dz =

LR =

0

x.w@yw%:uammmm%ﬁm
X

9. BT D = {(x,v)0<x<1,0< <3}, W [[d

0. VEVELER AL /£ (x) 2

=.OWHE (RARS S
T ORBEIR tim x(Vx +

et e — v = R e m R, & 24 &
ox  dy

AP T AT RISy, R U [ do
12

w.mm&ﬁi[" fmwﬂ&

2n+1

n=1
v, ox<2,

R (x)= [ F () de R, T F (x) k= 2 (ESEE

6-x, x>2.

18. iﬁ_/(x):{

0. LREM (RABE2 N, F19MF 1045, E20 0T 124, #£224)
9. il AR 64 N TTAIA G o B A B R I 5 00T T A AT ) LI R AN i
TR AR N I A GEE I LR 2
20, PABSRIE AR IZL y = Inx TDIZE L, ZUIZE S B x =1 K v = Inx [HACETRIEIE D .
(1) REVZL L INTiTE;
(2) RFHIEE Dy fife.
EEHCFRE B2 1D (k2 T




[image: image3.jpg]["RAE 2021 FREREEFREFAFLESR

B3t x KRG

N, RESEARSAER, SAEE, WAL

Mz =z(Inx+1)=x"(Inx+1).

g, =92 o (tnx 1),
dx  dx dx

13, fif: )x;u-t;%f(z.x+5)d(sm3x)
= L(2x4 5)sin3x ~-3fsin3xdx
3 3

N
:%(Zx 4 5)sin3x +§cos3x +C.




[image: image4.jpg][RETHARSNEE, SH%R, BRE

14, R x;}ﬂy’%&ﬁtﬂfrﬁﬁﬁfﬂ%—-)ﬁ,ﬁiﬁk,

2
X

2021

2
-2x° 41

;5‘% ABRH AR RER TR,

:.fz—2|—x|—dx:2 i,
2241 0o 241

2 xzou ‘ 2 ixl
#, ”?‘ﬁ‘f-zfﬂd’“ < filede
3 2
=o0+2f xz:_ldx—ln(xz +1)| 5.‘ I

15. fi#: /—;r\F(x,y,z)ze-”A—xzfl,

17. f&: BT < .

2 i[;] Wk, AR ERG B

n=1

LESY)

n=1

n i ,‘?
[2n+1] s,

=



[image: image5.jpg][RETRARSMER, S6%R, BRE

. B T = [Fogp=?
18. f#: %x<2H, nyiﬂrmm3,
245520, F(x)= [ fdr+ ["(6-d= -2+ 6x-2
; ) ’ s -
Bk, F(x)=

ArLA, lirgF(x
M, ZREHR
19. f#: WIZE

>4 i HBr<4if, §'<0,
M r=4795M&MER.
HURTE L2 4 K0, BTRAMEIRA.
20. B (1) BEIAEA (x5, 0,) EFy,=Inx,, M

4 L TRy~ lnxy =—(x—x,)

o

F LR A, MTTO—Inx, xi(o %) #ix =e.
0

Ak, MR LNHEA y=c'x.
(2) FEER D WERY [ (e'x—Inx)dx

1
=?-|—fmxa
1 .
:%—2——(xlnx|lfe+l)
e 1 e 1
2 2 (e—e.l) 2 2e
B5%

FEHERESEER EI3W G370




